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il Choose the most appropriate meanings of the underlined words
or phrases (1) to (4) from among each four choices. Then, mark
your answers on the answer sheet. Note that all nouns are written
in their singular forms.

(1) figure

O a statement about what you think is going to happen, or the
act of making this statement

@ a picture or drawing, often with numbered, in a book or other
document

® the symbol for a number or an amount expressed in numbers

@ the shape of the human body, or a person
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(2) sustain

® 0O o

to cause or allow something to continue for a period of time
to make something become larger in amount or size

to think or believe something to be true or probable

to make something become smaller in size, amount, degree,
importance, etc

(3) collapse

@

@
®
@

a feeling of energetic interest in a particular subject or activity
and an eagerness to be involved in it

the sudden failure of a system, organization, business, etc

a group of people with a particular set of aims

the state of being successful and having a lot of money

(4) premium

@

@
®
@

a fixed amount of money agreed every year as pay for an
employee

an extra amount of money that is given to you as a present or
reward in addition to the money you were expecting

an amount of money that has to be paid as a punishment for
not obeying a rule or law

an amount of money paid to obtain insurance

12 Choose the phrase which has the almost the same meaning as

the underlined part (A) among the following four choices. Then,

mark your answer on the answer sheet.

® 0o

perform
explain
constitute
expand
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13 Choose the most appropriate meaning of the underlined part (B)
from among the following four choices. Then, mark your answer on
the answer sheet.

supporting young couples in child rearing
declining births
maintaining higher fertility rates

® oo

spending times with one’s family

B4 Choose the concrete meaning of the underlined part (C) from
among the following four choices. Then, mark your answer on the

answer sheet.

BERANZARZIZEY, FEGEZRODILZAVWLLEELSEONDIL,
FETCPREOEENLEIIEFULNOLE LN REHARHEIL,
BRDFECEXBRIIBROBR, 8 VHEREZHERFLTVDHIL,
BHENZERBEZEOLD, REE—FITEITIENTIRVIL,

® 0O o

15 Choose the most appropriate answers to the following questions
A to C from among each four choices. Then, mark your answer
on the answer sheet.

A. According to the text, what is the estimated number of babies
born in Japan in 20197

50,000

512,000
864,000
914,000

® 0o
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B.According to the text, what is not necessary for addressing the
demographic woes in Japan?

® 0o

To spend much money on family-related public expenses
To fix the chronically long working hours

To review the social mechanism

To scrutinize the shortcomings of government policies

C.About to the text, which of the following is wrong?

@

@

Rapid aging and decline of Japan’s population with a falling
number of births has not been solved yet.

The falling population of children will translate into a shaking
the foundation of the social security programs.

The Japanese government made no effort to support young
couples in child rearing, so the population of Japan is aging
and shrinking.

The average number of children a woman gives birth to in her
lifetime is called a total fertility rate.

13
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